RESOLUTION 177-20

RESOLUTION AWARDING CONTRACT FOR THE ROADWAY IMPROVEMENTS OF SOUTH BROAD STREET IN THE BOROUGH OF CLAYTON TO SOUTH STATE, INC.

WHEREAS, the Borough of Clayton received sealed bids on Thursday, October 1, 2020 for the Roadway Improvements of South Broad Street; and

WHEREAS, South State, Inc., of Bridgeton, New Jersey was the successful bidder complying with all bid requirements and specifications; and

WHEREAS, the Borough Engineer has rendered a report dated October 2, 2020, a copy of which is attached hereto, and made a part hereof, recommending the award of the bid to South State, Inc., in an amount not to exceed \$219,549.00; and

WHEREAS, Donna Nestore, CFO, for the Borough of Clayton certifies the above referenced dollar amount is available through the NJDOT 2020 Municipal Aid Program Grant; and

NOW, THEREFORE, BE IT RESOLVED by the Mayor and Council of the Borough of Clayton, that South State, Inc., be and hereby is awarded the Contract for the roadway improvements of South Broad Street in the amount of \$219,549.00 in accordance with and as more particularly described in the bid proposal submitted by said bidder and in accordance with the terms and conditions set forth in the specifications promulgated by the Borough of Clayton; and

BE IT FURTHER RESOLVED that the Mayor and Clerk be and hereby are authorized to execute said Contract.

ADOPTED at a meeting of the Mayor and Council of the Borough of Clayton, County of Gloucester, and State of New Jersey held Thursday, October 8, 2020.

BOROUGH OF CLAYTON

THOMAS BIANCO, Mayor

Attest:

CHRISTINE NEWCOMB, Borough Clerk

CERTIFICATION

I, Christine Newcomb, Borough Clerk of the Borough of Clayton, do hereby certify that the foregoing Resolution was presented and duly adopted by the Borough Council at a meeting of the Borough of Clayton, held on Thursday, October 8, 2020.

Christine Dewzon V CHRISTINE NEWCOMB, Borough Clerk

ASSOCIATES, INC.

October 2, 2020

Borough of Clayton 125 North Delsea Drive Clayton, New Jersey 08312

Attention: Christine Newcomb, Borough Clerk (Via Email & Standard Mail)

Reference:

Receipt of Sealed Bids

South Broad Street Roadway Improvements

Borough of Clayton, Gloucester County, New Jersey

S&A File Number CB-153

Dear Ms. Newcomb:

On Thursday, October 1, 2020, at 10:00 A.M., sealed bids for the above referenced project were received and publicly opened at the office of Sickels & Associates, Inc. by Olivier Peña of Sickels & Associates, Inc.

The South Broad Street Roadway Improvements project (Base Bid with an Alternate Bid) consists of the milling of existing asphalt roadway, the construction of new asphalt roadway, roadway striping, signage, installation of concrete vertical curb, driveway aprons, compliant handicap accessible ramps, concrete swales, and topsoil/hydro-seeding. The bid was structured as follows:

Base Bid

 South Broad Street (West Clayton Avenue to Approximately 200' Beyond West Chestnut Street)

Alternate No. 1 Bid

• South Broad Street (Extends Project Limits to Approximately 100' Beyond Morton Avenue)

Eight (8) prospective bidders and one (1) project lead source company obtained bid documents for this project, from which the Borough received six (6) bid proposals. The apparent low bidder is South State, Inc. of Bridgeton, New Jersey. The bid offered is in the amount of \$219,549.00 for the Base Bid, and in the amount of \$67,829.65 for Alternate No. 1 Bid, for a total bid in the amount of \$287,378.65. The NJDOT allotment for this project is \$270,000.00.

The following chart summarizes the bids submitted:

| Bidder | Base Bid | Alternate No. 1 Bid | Total Bid Amount |
|--------------------------------|--------------|------------------------|------------------|
| South State, Inc. | \$219,549.00 | \$67,829.65 | \$287,378.65 |
| Paving Plus LLC | \$235,064.70 | \$70,557.00 | \$305,621.70 |
| Landberg Construction LLC | \$236,533.44 | \$68,284.52 | \$304,817.96 |
| Charles Marandino LLC | \$240,349.00 | \$75,358.00 | \$315,707.00 |
| Ricky Slade Construction, Inc. | \$255,411.75 | \$84,045.75 | \$339,457.50 |
| Diamond Construction | \$354,118.54 | \$132,461.37 | \$486,579.91 |

Page 2 October 2, 2020

Reference: Receipt of Sealed Bids

South Broad Street Roadway Improvements

Borough of Clayton, Gloucester County, New Jersey

S&A File Number CB-153

The Contractor is qualified to perform the work under this Contract. They have provided a list of projects currently under construction and those that have been completed of a similar nature to this Contract. Our office has completed work with this company in the past and their work has been deemed acceptable.

We have reviewed the low bid offered and believe it to be in order. As noted previously, the NJDOT allotment for this project is \$270,000.00. As such, we recommend the award of the bid to South State, Inc. in an amount not to exceed \$219,549.00 for the Base Bid. This recommendation is subject to the review of the Borough Solicitor and verification of funds by the Municipal Finance Officer.

We respectfully request that this item be placed on the agenda for review and approval at the next available Mayor and Council meeting. It should be noted that the original bid documents were left with you after the bid opening for the Borough's records. By copy of this letter, we have forwarded copies of the bid forms and related documents to Timothy Scaffidi, Esquire, Borough Solicitor for his review and comment. Subject to the award of the bid, the bid bonds can be returned to the respective bidders.

It should also be noted that upon the Borough's recommendation to award, three (3) original copies of the Resolution of Award should be sent to this office for submission to the Division of Local Aid and the Economic Development District Office for approval of the Department of Transportation.

If you have any questions regarding the above matter, please feel free to contact our office at (856) 848-6800. We will be pleased to discuss the matter with you at your convenience.

Very truly yours,

SICKELS & ASSOCIATES, INC.

Mark R. Brunermer, PE, CME

Borough of Clayton Engineer

MRB/ddr

Enclosure

Copy To: Mayor & Council Members, w/enclosure (Via Standard Mail)

Sue Miller, Borough Administrator, w/enclosure (Via Email Only)

Donna Nestore, Municipal Finance Officer, w/enclosure (Via Email Only)

Joe Hunt, Director of Public Works, w/enclosure (Via Email Only)

Timothy Scaffidi, Borough Solicitor, w/enclosures (Via Email & Standard Mail)

David Roché, Sickels & Associates, Inc. w/enclosure

File, w/enclosure

South Broad Street Roadway Improvements Borough of Clayton, Gloucester County, New Jersey S&A File No. CB-153 October 1, 2020

| | | | | | South S | | | Paving Plus LLC | | | | | |
|--------|--|----------|---------|----------|------------|--------------|------------|-----------------|--------------|-------|------------|--|--|
| | | | | | Bridgeton, | Ne | w Jersey | | Franklinvill | e, Ne | w Jersey | | |
| ITEM | DESCRIPTION | QUANTITY | UNIT | | UNIT | Г | TOTAL | | UNIT | | TOTAL | | |
| NO. | 2250111 110,1 | QUANTITI | MEAS. | <u> </u> | PRICE | | PRICE | | PRICE | | PRICE | | |
| | | | BASE B | ID | | | | | | ٠. | | | |
| 1 | Construction Layout | 1 | LS | \$ | 1,000.00 | \$ | 1,000.00 | \$ | 9,800.00 | \$ | 9,800.00 | | |
| 2 | Traffic Cone | 25 | UNIT | \$ | 0.01 | \$ | 0.25 | \$ | 1.00 | \$ | 25.00 | | |
| 3 | Drum | 20 | UNIT | \$ | 0.01 | \$ | 0.20 | \$ | 1.00 | \$ | 20.00 | | |
| 4 | Construction Sign | 315 | SF | \$ | 13.00 | \$ | 4,095.00 | \$ | 1.00 | \$ | 315.00 | | |
| 5 | Mobilization | 1 | LS | \$ | 10,000.00 | \$ | 10,000.00 | \$ | 7,500.00 | \$ | 7,500.00 | | |
| 6 | Clearing Site | 1 | LS | \$ | 2,000.00 | \$ | 2,000.00 | \$ | 30,000.00 | \$ | 30,000.00 | | |
| 7 | Excavation, Unclassified (If & Where Directed) | 65 | CY | \$ | 10,00 | \$ | 650.00 | \$ | 10.00 | \$_ | 650.00 | | |
| 8 | Excavation, Test Pit (If & Where Directed) | 65 | CY | \$ | 0.01 | \$ | 0.65 | \$ | 10.00 | \$ | 650.00 | | |
| 9 | Hot Mix Asphalt Milling, 3" or More | 4,075 | SY | \$ | 6.00 | \$ | 24,450.00 | \$ | 3.60 | \$ | 14,670.00 | | |
| 10 | Tack Coat | 360 | GAL | \$ | 0.01 | \$ | 3.60 | \$ | 0.01 | \$ | 3.60 | | |
| 11 | DGA Base Course, 6" Thick (If & Where Directed) | 1,230 | SY | \$ | 1.00 | \$ | 1,230.00 | \$ | 1.00 | \$ | 1,230.00 | | |
| 12 | Hot Mix Asphalt, 12.5M64, Surface Course, 2" Thick | 555 | TON | \$ | 80.00 | \$ | 44,400.00 | \$ | 89.00 | \$ | 49,395.00 | | |
| 13 | Hot Mix Asphalt, 19M64, Base Course, 2" Thick | 575 | TON | \$ | 70.00 | \$ | 40,250.00 | \$ | 88.00 | \$ | 50,600.00 | | |
| 14 | Sawing & Sealing Joints in Hot Mix Asphalt | 230 | LF | \$ | 2.00 | \$ | 460.00 | \$ | 2.00 | \$ | 460.00 | | |
| 15 | Asphalt Price Adjustment | 1 | LS | \$ | 14,875.00 | \$ | 14,875.00 | \$ | 14,875.00 | \$ | 14,875.00 | | |
| 16 | Hot Mix Asphalt Repair | 15 | SY | \$ | 1.00 | \$ | 15.00 | \$ | 1.00 | \$ | 15.00 | | |
| 17 | Concrete Driveway Apron, 6" Thick | 20 | SY | \$ | 120,00 | \$ | 2,400.00 | \$ | 86.00 | \$ | 1,720.00 | | |
| 18 | Concrete Vertical Curb | 275 | LF | \$ | 38.50 | \$ | 10,587.50 | \$ | 34.00 | \$ | 9,350.00 | | |
| 19 | Concrete Curb & Gutter | 150 | LF | \$ | 50.00 | \$ | 7,500.00 | \$ | 44.00 | \$ | 6,600.00 | | |
| 20 | Concrete Sidewalk, 4" Thick | 175 | SY | \$ | 112.50 | \$ | 19,687.50 | \$ | 82.00 | \$ | 14,350.00 | | |
| 21 | Concrete Swale | 110 | LF | \$ | 120.00 | \$ | 13,200.00 | \$ | 30.00 | \$ | 3,300.00 | | |
| 22 | Detectable Warning Surface (Insert) | 16 | UNIT | \$ | 300.00 | \$ | 4,800.00 | \$ | 400.00 | \$ | 6,400.00 | | |
| 23 | Traffic Stripe, 4" | 1,880 | LF | \$ | 0.60 | \$ | 1,128.00 | \$ | 0.62 | \$ | 1,165.60 | | |
| 24 | Traffic Marking | 965 | SF | \$ | 3.00 | \$ | 2,895.00 | \$ | 3.10 | \$ | 2,991.50 | | |
| 25 | Guide Sign, w/ Breakaway Support | 10 | SF | \$ | 45.00 | \$ | 450.00 | \$ | 25.00 | \$ | 250.00 | | |
| 26 | Regulatory & Warning Sign, w/ Breakaway Support | 125 | SF | \$ | 45.00 | \$ | 5,625.00 | \$ | 25.00 | \$ | 3,125.00 | | |
| 27 | Reset Manhole, Sanitary Sewer, Using New Casting | 5 | UNIT | \$ | 900.00 | \$ | 4,500.00 | \$ | 300.00 | \$ | 1,500.00 | | |
| 28 | Curb Piece | 4 | UNIT | \$ | 350.00 | \$ | 1,400.00 | \$ | 220.00 | \$ | 880.00 | | |
| 29 | Bicycle Safe Grate | 4 | UNIT | \$ | 350.00 | \$ | 1,400.00 | \$ | 350.00 | \$ | 1,400.00 | | |
| 30 | RPM, Bi-Directional Lens, Blue | 2 | UNIT | \$ | 250.00 | \$ | 500.00 | \$ | 280.00 | \$ | 560.00 | | |
| 31 | Preparation of Existing Soil | 210 | SY | \$ | 0.01 | \$ | 2.10 | \$ | 2.00 | \$ | 420.00 | | |
| 32 | Topsoil, 4" Thick | 210 | SY | \$ | 0.01 | \$ | 2.10 | 5 \$ | 2.00 | \$ | 420.00 | | |
| 33 | Hydro-Seeding | 210 | SY | \$ | 0.01 | \$ | 2.10 | \$ | 2.00 | \$ | 420.00 | | |
| 34 | Temporary Inlet Protection | 4 | UNIT | \$ | 10.00 | \$ | 40.00 | \$ | 1.00 | \$ | 4.00 | | |
| TOTAL. | AMOUNT OF BASE BID | | | | | \$ | 219,549.00 | | | \$ | 235,064.70 | | |
| | | | | | | | | | | | | | |
| | | ALTE | RNATE I | NO. | BID | | | | | | | | |
| 1 | Construction Layout | 1 | LS | \$ | 1.00 | \$ | 1.00 | \$ | 2,000.00 | \$ | 2,000.00 | | |
| 2 | Clearing Site | 1 | LS | \$ | 1,000.00 | \$ | 1,000.00 | \$ | 2,000.00 | \$ | 2,000.00 | | |
| 3 | Excavation, Unclassified (If & Where Directed) | 30 | CY | \$ | 10.00 | \$ | 300.00 | \$ | 10.00 | \$ | 300.00 | | |
| 4 | Excavation, Test Pit (If & Where Directed) | 30 | CY | \$ | 0.01 | \$ | 0.30 | \$ | 10.00 | \$ | 300.00 | | |
| 5 | Hot Mix Asphalt Milling, 3" or More | 1,755 | SY | \$ | 6.00 | \$ | 10,530.00 | \$ | 3.60 | \$ | 6,318.00 | | |
| 6 | Tack Coat | 160 | GAL | \$ | 0.01 | \$ | | \$ | 0.01 | \$ | 1.60 | | |
| 7 | DGA Base Course, 6" Thick (If & Where Directed) | 530 | SY | \$ | 1.00 | \$ | | \$ | 1.00 | \$ | 530.00 | | |
| 8 | Hot Mix Asphalt, 12.5M64, Surface Course, 2" Thick | 240 | TON | \$ | 80.00 | \$ | | \$ | 89.00 | | 21,360.00 | | |
| 9 | Hot Mix Asphalt, 19M64, Base Course, 2" Thick | 250 | TON | \$ | 70.00 | \$ | | \$ | 88.00 | | 22,000.00 | | |
| 10 | Sawing & Sealing Joints in Hot Mix Asphalt | 70 | LF | \$ | 2.00 | \$ | | \$ | 2.00 | 1 | 140.00 | | |
| | Asphalt Price Adjustment | 1 | LS | \$ | | - | | \$ | 4,570.00 | | 4,570.00 | | |

South Broad Street Roadway Improvements Borough of Clayton, Gloucester County, New Jersey S&A File No. CB-153

October 1, 2020

| | | | | South S Bridgeton, | | * * | | Paving Franklinville | | |
|---|------------------|------------------|------------------|-----------------------|------------------|---------------------|-------------------------------|-------------------------------|-------------------------------|----------------------------------|
| DESCRIPTION | QUANTITY | UNIT MEAS. | | UNIT PRICE | | TOTAL PRICE | | UNIT PRICE | | TOTAL PRICE |
| | ALTERNAT | ΓΕ NO. 1 | BID | (Continued) | | | | | | |
| Vertical Curb | 70 | LF | \$ | 38.50 | \$ | 2,695.00 | \$ | 34.00 | \$ | 2,380.00 |
| idewalk, 4" Thick | 35 | SY | \$ | 112.50 | \$ | 3,937.50 | \$ | 82.00 | \$ | 2,870.00 |
| Warning Surface (Insert) | 2 | UNIT | \$ | 300.00 | \$ | 600.00 | \$ | 400.00 | \$ | 800.00 |
| ipe, 4" | 770 | LF | \$ | 0.60 | \$ | 462.00 | \$ | 0,62 | \$ | 477.40 |
| rking | 180 | SF | \$ | 3.00 | \$ | 540.00 | \$ | 3.10 | \$ | 558.00 |
| n, w/ Breakaway Support | 5 | SF | \$ | 45.00 | \$ | 225.00 | \$ | 25.00 | \$ | 125.00 |
| & Warning Sign, w/ Breakaway Support | 75 | SF | \$ | 45.00 | \$ | 3,375.00 | \$ | 25.00 | \$ | 1,875.00 |
| hole, Sanitary Sewer, Using New Casting | 1 | UNIT | \$ | 900.00 | \$ | 900.00 | \$ | 300.00 | \$ | 300.00 |
| , | 1 | UNIT | \$ | 350.00 | \$ | 350.00 | \$ | 220.00 | \$ | 220.00 |
| fe Grate | 2 | UNIT | \$ | 350.00 | \$ | 700.00 | \$ | 350.00 | \$ | 700.00 |
| Directional Lens, Blue | 1 | UNIT | \$ | 250.00 | \$ | 250.00 | \$ | 280.00 | \$ | 280.00 |
| n of Existing Soil | 75 | SY | \$ | 0.01 | \$ | 0.75 | \$ | 2.00 | \$ | 150.00 |
| 'Thick | 75 | SY | \$ | 0.01 | \$ | 0.75 | \$ | 2.00 | \$ | 150.00 |
| ding | 75 | SY | \$ | 0.01 | \$ | 0.75 | \$ | 2.00 | \$ | 150.00 |
| Inlet Protection | 2 | UNIT | \$ | 10.00 | \$ | 20.00 | \$ | 1.00 | \$ | 2.00 |
| OF ALTERNATE NO. 1 BID | | | | | \$ | 67,829.65 | | | \$ | 70,557.00 |
| | | | | | | | | | | · |
| | В | ID SUMN | 1AR | Y | | | | | | |
| OF BASE BID | | | | | \$ | 219,549.00 | | | \$ | 235,064.70 |
| OF ALTERNATE NO. 1 BID | | | | | \$ | 67,829.65 | | | \$ | 70,557.00 |
| OF BASE &ALTERNATE NO. 1 BID | | | | | \$ | 287,378.65 | | | . \$ | 305,621.70 |
| OF ALTI | ERNATE NO. 1 BID | ERNATE NO. 1 BID | ERNATE NO. 1 BID \$ | ERNATE NO. 1 BID \$ 67,829.65 \$ |

South Broad Street Roadway Improvements Borough of Clayton, Gloucester County, New Jersey S&A File No. CB-153

October 1, 2020

| | | | | | Landberg Cor Dorothy, 1 | | | | | Iarandino LLC , New Jersey | | |
|------|--|---------------------------------------|-------|------|----------------------------|----------|------------|----------|-----------|-------------------------------|------------|--|
| ITEM | DESCRIPTION | QUANTITY | UNIT | | UNIT | TOTAL | | | UNIT | | TOTAL | |
| NO. | DESCRIPTION | QUANTITI | MEAS. | | PRICE | | PRICE | | PRICE | | PRICE | |
| | | | | | | | | | | | | |
| 1 | Construction Layout | 1 | LS | \$ | 7,500.00 | \$ | 7,500.00 | \$ | 3,000.00 | \$ | 3,000.00 | |
| 2 | Traffic Cone | 25 | UNIT | \$ | 0.01 | \$ | 0.25 | \$ | 1.00 | \$ | 25.00 | |
| 3 | Drum | 20 | UNIT | \$ | 0.01 | \$ | 0.20 | \$ | 1.00 | \$ | 20.00 | |
| 4 | Construction Sign | 315 | SF | \$ | 0.01 | \$ | 3.15 | \$ | 10.00 | \$ | 3,150.00 | |
| 5 | Mobilization | 1 | LS | \$ | 4,500.00 | \$ | 4,500.00 | \$ | 10,000.00 | \$ | 10,000.00 | |
| 6 | Clearing Site | 1 | LS | \$ | 25,000.00 | \$ | 25,000.00 | \$ | 8,000.00 | \$ | 8,000.00 | |
| 7 | Excavation, Unclassified (If & Where Directed) | 65 | CY | \$ | 0.01 | \$ | 0.65 | \$ | 1.00 | \$ | 65.00 | |
| 8 | Excavation, Test Pit (If & Where Directed) | 65 | CY | \$ | 0.01 | \$ | 0.65 | \$ | 1.00 | \$ | 65.00 | |
| 9 | Hot Mix Asphalt Milling, 3" or More | 4,075 | SY | \$ | 4.00 | \$ | 16,300.00 | \$ | 6.00 | \$ | 24,450.00 | |
| 10 | Tack Coat | 360 | GAL | \$ | 0.01 | \$ | 3.60 | \$ | 0.10 | \$ | 36,00 | |
| 11 | DGA Base Course, 6" Thick (If & Where Directed) | 1,230 | SY | \$ | 0.01 | \$ | 12.30 | \$ | 1.00 | \$ | 1,230.00 | |
| 12 | Hot Mix Asphalt, 12.5M64, Surface Course, 2" Thick | 555 | TON | \$ | 86.00 | \$ | 47,730.00 | \$ | 85.00 | \$ | 47,175.00 | |
| | Hot Mix Asphalt, 19M64, Base Course, 2" Thick | 575 | TON | \$ | 82.00 | \$ | 47,150.00 | \$ | 85.00 | \$ | 48,875.00 | |
| 14 | Sawing & Sealing Joints in Hot Mix Asphalt | 230 | LF | \$ | 2.00 | \$ | 460.00 | \$ | 5.00 | \$ | 1,150.00 | |
| 15 | Asphalt Price Adjustment | 1 | LS | \$ | 14,875.00 | \$ | 14,875.00 | \$ | 14,875.00 | \$ | 14,875.00 | |
| _ | Hot Mix Asphalt Repair | 15 | SY | \$ | 0.01 | \$ | 0.15 | \$ | 40.00 | \$ | 600.00 | |
| | Concrete Driveway Apron, 6" Thick | 20 | SY | \$ | 125.00 | \$ | 2,500.00 | \$ | 140.00 | \$ | 2,800.00 | |
| 18 | Concrete Vertical Curb | 275 | LF | \$ | 42.00 | \$ | 11,550.00 | \$ | 45.00 | \$ | 12,375.00 | |
| 19 | Concrete Curb & Gutter | 150 | LF | \$ | 53.00 | \$ | 7,950.00 | \$ | 68.00 | \$ | 10,200.00 | |
| | Concrete Sidewalk, 4" Thick | 175 | SY | \$ | 103.00 | s | 18,025.00 | \$ | 95.00 | \$ | 16,625.00 | |
| 21 | Concrete Swale | 110 | LF | \$ | 70.00 | \$ | 7,700.00 | \$ | 63.00 | \$ | 6,930.00 | |
| | Detectable Warning Surface (Insert) | 16 | UNIT | \$ | 250.00 | \$ | 4,000.00 | \$ | 650.00 | \$ | 10,400.00 | |
| 23 | Traffic Stripe, 4" | 1,880 | LF | \$ | 0.65 | s | 1,222.00 | \$ | 0.60 | \$ | 1,128.00 | |
| 24 | Traffic Marking | 965 | SF | \$ | 3.25 | \$ | 3,136.25 | \$ | 3.00 | \$ | 2,895.00 | |
| 25 | Guide Sign, w/ Breakaway Support | 10 | SF | \$ | 75.00 | \$ | 750.00 | \$ | 40.00 | \$ | 400.00 | |
| 26 | Regulatory & Warning Sign, w/ Breakaway Support | 125 | SF | \$ | 50.00 | \$ | 6,250.00 | \$ | 40.00 | \$ | 5,000.00 | |
| 27 | Reset Manhole, Sanitary Sewer, Using New Casting | 5 | UNIT | \$ | 1,100.00 | \$ | 5,500.00 | \$ | 950.00 | \$ | 4,750.00 | |
| 28 | Curb Piece | 4 | UNIT | \$ | 325.00 | \$ | 1,300.00 | \$ | 250.00 | \$ | 1,000.00 | |
| 29 | Bicycle Safe Grate | 4 | UNIT | \$ | 325.00 | s | 1,300.00 | \$ | 400.00 | \$ | 1,600.00 | |
| 30 | RPM, Bi-Directional Lens, Blue | 2 | UNIT | \$ | 275.00 | \$ | 550.00 | \$ | 250.00 | \$ | 500.00 | |
| 31 | Preparation of Existing Soil | 210 | SY | \$ | 0.01 | \$ | 2.10 | \$ | 1.00 | \$ | 210.00 | |
| 32 | Topsoil, 4" Thick | 210 | SY | \$ | 6.00 | 8 | 1,260.00 | \$ | 1.00 | \$ | 210.00 | |
| | Hydro-Seeding | 210 | SY | \$ | 0.01 | 8 | 2.10 | \$ | 1.00 | \$ | 210.00 | |
| 34 | Temporary Inlet Protection | 4 | UNIT | \$ | 0.01 | - | 0.04 | _ | 100.00 | _ | 400.00 | |
| | AMOUNT OF BASE BID | · · · · · · · · · · · · · · · · · · · | OTAL | - | 0.01 | s | 236,533.44 | Ť | 100.00 | \$ | 240,349.00 | |
| CIME | AMAGENTA OF BRIDE BID | 1 | | | | ۳ | 200,000.71 | H | | - | 210,211,00 | |
| | | AITE | RNATE | NO 1 | RID | _ | | | | ٠. | | |
| 1 | Construction Lavout | 1 | LS | \$ | 500.00 | \$ | 500.00 | \$ | 1,000.00 | \$ | 1,000.00 | |
| 1 | Construction Layout | 1 1 | LS | \$ | 500.00 | + | 500.00 | \$ | 2,000.00 | | 2,000.00 | |
| 2 | Clearing Site | | | \$ | | \$ | | \$ | 2,000.00 | _ | 2,000.00 | |
| 3 | Excavation, Unclassified (If & Where Directed) | 30 | CY | \$ | 0.01 | \$ | 0.30 | \$ | 1.00 | \$ | 30.00 | |
| 4 | Excavation, Test Pit (If & Where Directed) | 30 | CY | - | 0.01 | - | | \$ \$ | | \$ | | |
| | Hot Mix Asphalt Milling, 3" or More | 1,755 | SY | \$ | 4.00 | \$ \$ | | \$ \$ | 6.00 | \$ | 10,530.00 | |
| 6 | Tack Coat | 160 | GAL | \$ | 0.01 | - | 1.60 | ı. | 0.10 | - | | |
| | DGA Base Course, 6" Thick (If & Where Directed) | 530 | SY | \$ | 0.01 | \$ | 5.30 | \$ | 1.00 | \$ | 530.00 | |
| 8 | Hot Mix Asphalt, 12.5M64, Surface Course, 2" Thick | 240 | TON | \$ | 86.00 | \$ | 20,640.00 | \$ | 85.00 | \$ | 20,400.00 | |
| 9 | Hot Mix Asphalt, 19M64, Base Course, 2" Thick | 250 | TON | \$ | 82.00 | \$ | 20,500.00 | \$ | 85.00 | \$ | 21,250.00 | |
| 10 | Sawing & Sealing Joints in Hot Mix Asphalt | 70 | LF | \$ | 2.00 | \$ | | | 5.00 | \$ | 350.00 | |
| 11 | Asphalt Price Adjustment | 1 | LS | \$ | 4,570.00 | \$ | 4,570.00 | \$ | 4,570.00 | \$ | 4,570.00 | |

South Broad Street Roadway Improvements Borough of Clayton, Gloucester County, New Jersey S&A File No. CB-153 October 1, 2020

| | | | | | Landberg Cor Dorothy, l | | | | Charles Mar Milmay, P | |
|--------------|--|----------|---------------|---------|----------------------------|----|----------------|------|--------------------------|------------------|
| ITEM NO. | DESCRIPTION | QUANTITY | UNIT MEAS. | | UNIT PRICE | | TOTAL PRICE | | UNIT PRICE | TOTAL PRICE |
| | | ALTERNAT | E NO. 1 | BID (| (Continued) | ٠. | | | | - |
| 12 | Concrete Vertical Curb | 70 | LF | \$ | 42.00 | \$ | 2,940.00 | \$ | 45.00 | \$ 3,150.00 |
| 13 | Concrete Sidewalk, 4" Thick | 35 | SY | \$ | 103.00 | \$ | 3,605.00 | \$ | 95.00 | \$ 3,325.00 |
| 14 | Detectable Warning Surface (Insert) | 2 | UNIT | \$ | 250.00 | \$ | 500.00 | \$ | 650.00 | \$ 1,300.00 |
| 15 | Traffic Stripe, 4" | 770 | LF | \$ | 0.65 | \$ | 500.50 | \$\$ | 0.60 | \$ 462.00 |
| 16 | Traffic Marking | 180 | SF | \$ | 3.25 | \$ | 585.00 | \$\$ | 3.00 | \$ 540.00 |
| 17 | Guide Sign, w/ Breakaway Support | 5 | SF | \$ | 75.00 | \$ | 375.00 | \$ | 40.00 | \$ 200.00 |
| 18 | Regulatory & Warning Sign, w/ Breakaway Support | 75 | SF | \$ | 50.00 | \$ | 3,750.00 | \$ | 40.00 | \$ 3,000.00 |
| 19 | Reset Manhole, Sanitary Sewer, Using New Casting | 1 | UNIT | \$ | 450.00 | \$ | 450.00 | \$ | 950.00 | \$ 950.00 |
| 20 | Curb Piece | 1 | UNIT | \$ | 325.00 | \$ | 325.00 | \$ | 250.00 | \$ 250.00 |
| 21 | Bicycle Safe Grate | 2 | UNIT | \$ | 325.00 | \$ | 650.00 | \$ | 400.00 | \$ 800.00 |
| 22 | RPM, Bi-Directional Lens, Blue | 1 | UNIT | \$ | 275.00 | \$ | 275.00 | \$ | 250.00 | \$ 250.00 |
| 23 | Preparation of Existing Soil | 75 | SY | \$ | 0.01 | \$ | 0.75 | \$ | 1.00 | \$ 75.00 |
| 24 | Topsoil, 4" Thick | 75 | SY | \$ | 6.00 | \$ | 450.00 | \$ | 1.00 | \$ 75.00 |
| 25 | Hydro-Seeding | 75 | SY | \$ | 0.01 | \$ | 0.75 | \$ | 1.00 | \$ 75.00 |
| 26 | Temporary Inlet Protection | 2 | UNIT | \$ | 0.01 | \$ | 0.02 | \$ | 100.00 | \$ 200.00 |
| TOTAL | AMOUNT OF ALTERNATE NO. 1 BID | | | | | \$ | 68,284.52 | | | \$ 75,358.00 |
| | | D. | ID SUMN | 4 A D V | | | | | | .1 . 1 . X |
| TOTAL | AMOUNT OF BASE BID | D. | ID SUMIN | LAK | <u>.</u> | \$ | 236,533,44 | _ | | \$ 240,349.00 |
| | AMOUNT OF ALTERNATE NO. 1 BID | | | | | \$ | 68,284.52 | | | \$ 75,358.00 |
| FOTAL | AMOUNT OF BASE &ALTERNATE NO. 1 BID | | | | | \$ | 304,817.96 | | | \$ 315,707.00 |

South Broad Street Roadway Improvements Borough of Clayton, Gloucester County, New Jersey S&A File No. CB-153

October 1, 2020

| | | | | Ricky Slade Construction, Inc. Bridgeton, New Jersey | | | | | | Construction lew Jersey | | |
|----------|--|----------|------------|---|--------------------|----------|---------------------------------------|-----------|-----------|----------------------------|--------------------|--|
| ITEM | | | UNIT | | UNIT | Π | TOTAL | | UNIT | ٠. | TOTAL | |
| NO. | DESCRIPTION | QUANTITY | MEAS. | | PRICE | l | PRICE | | PRICE | ٠. | PRICE | |
| | | | BASE B | ID. | | | | | | | | |
| 1 | Construction Layout | 1 | LS | \$ | 3,500.00 | \$ | 3,500.00 | \$ | 25,000.00 | \$ | 25,000.00 | |
| 2 | Traffic Cone | 25 | UNIT | \$ | 1.00 | \$ | | \$ | 0.01 | \$ | 0.25 | |
| 3 | Drum | 20 | UNIT | \$ | 1.00 | \$ | | \$ | 0.01 | \$ | 0.20 | |
| 4 | Construction Sign | 315 | SF | \$ | 9.00 | \$ | | \$ | 0.01 | \$ | 3.15 | |
| 5 | Mobilization | 1 | LS | \$ | 7,500.00 | \$ | | \$ | 40,000.00 | \$ | 40,000.00 | |
| 6 | Clearing Site | 1 | LS | \$ | 12,500.00 | \$ | | \$ | 30,000.00 | \$ | 30,000.00 | |
| 7 | Excavation, Unclassified (If & Where Directed) | 65 | CY | \$ | 1.00 | \$ | | \$ | 1.00 | \$ | 65.00 | |
| 8 | Excavation, Test Pit (If & Where Directed) | 65 | CY | \$ | 1.00 | \$ | | \$ | 1.00 | \$ | 65.00 | |
| 9 | Hot Mix Asphalt Milling, 3" or More | 4,075 | SY | \$ | 4.25 | \$ | | \$ | 15.00 | \$ | 61,125.00 | |
| 10 | Tack Coat | 360 | GAL | \$ | 1.00 | \$ | | \$ | 0.01 | \$ | 3.60 | |
| 11 | DGA Base Course, 6" Thick (If & Where Directed) | 1,230 | SY | \$ | 7.50 | \$ | | \$ | 1.00 | \$ | 1,230.00 | |
| 12 | Hot Mix Asphalt, 12.5M64, Surface Course, 2" Thick | 555 | TON | \$ | 80.00 | \$ | | \$ | 90.00 | _ | 49,950.00 | |
| 13 | Hot Mix Asphalt, 19M64, Base Course, 2" Thick | 575 | TON | \$ | 80.00 | \$ | | \$ | 90.00 | | 51,750.00 | |
| 14 | Sawing & Sealing Joints in Hot Mix Asphalt | 230 | LF | \$ | 1,00 | \$ | , | \$ | 1,00 | | 230.00 | |
| 15 | Asphalt Price Adjustment | 1 | LS | \$ | 14,875.00 | \$ | | \$ | 14,875.00 | | 14,875.00 | |
| 16 | Hot Mix Asphalt Repair | 15 | SY | \$ | 100.00 | \$ | | \$ | 9.00 | _ | 135.00 | |
| 17 | Concrete Driveway Apron, 6" Thick | 20 | SY | \$ | 150.00 | \$ | · | \$ | 108.00 | \$ | 2,160.00 | |
| 18 | Concrete Vertical Curb | 275 | LF | \$ | 35.00 | \$ | · · | \$ | | \$ | 13,750.00 | |
| 19 | Concrete Curb & Gutter | 150 | LF | \$ | 45.00 | \$ | | \$ | 60.00 | \$ | 9,000.00 | |
| 20 | Concrete Sidewalk, 4" Thick | 175 | SY | \$ | 200.00 | \$ | | \$ | 90.00 | \$ | 15,750.00 | |
| 21 | Concrete Swale | 110 | LF | \$ | 75.00 | \$ | | \$ | 60.00 | \$ | 6,600.00 | |
| 22 | Detectable Warning Surface (Insert) | 16 | UNIT | \$ | 300.00 | \$ | | \$ | 500.00 | \$ | 8,000.00 | |
| 23 | Traffic Stripe, 4" | 1,880 | LF | \$ | 0.60 | \$ | | \$ \$ | 1.25 | \$ | 2,350.00 | |
| 24 | Traffic Marking | 965 | SF | \$ | 3.00 | \$ | | \$ \$ | 8.00 | \$ | 7,720.00 | |
| 25 | Guide Sign, w/ Breakaway Support | 10 | SF | \$ | 45.00 | \$ | | \$ | 40.00 | \$ | 400.00 | |
| 26 | | 125 | SF | \$ | 45.00 | \$ | | <u>\$</u> | 50.00 | - | | |
| 27 | Regulatory & Warning Sign, w/ Breakaway Support Reset Manhole, Sanitary Sewer, Using New Casting | 5 | | \$ | | \$ | , | \$ \$ | | \$ | 6,250.00 500.00 | |
| 28 | Curb Piece | 4 | UNIT | \$ | 1,850.00 700.00 | \$ | | \$ | 900.00 | _ | 3,600.00 | |
| 29 | Bicycle Safe Grate | 4 | UNIT | \$ | 500.00 | \$ | | \$ | 400.00 | _ | 1,600.00 | |
| 30 | RPM, Bi-Directional Lens, Blue | 2 | | \$ | 250.00 | \$ | | \$ | 1,000.00 | \$ | 2,000.00 | |
| 31 | Preparation of Existing Soil | 210 | UNIT | \$ | 5.00 | \$ | | \$ | 0.01 | \$ | 2,000.00 | |
| | | 1 | | | | \$ | · | \$ | | \$ | | |
| 32 33 | Topsoil, 4" Thick | 210 | SY | \$ \$ | 5.00 | \$ | | \$ \$ | 0.01 | \$ | 2.10 2.10 | |
| | Hydro-Seeding Townson Left Protection | 210 | SY UNIT | | 2.00 100.00 | - | | _ | 0.01 | | 0.04 | |
| | Temporary Inlet Protection | 4 | UNII | ð | 100.00 | _ | | 3 | 0.01 | - | | |
| IOIAL | AMOUNT OF BASE BID | 1 | | H | • | \$ | 255,411.75 | | | \$ | 354,118.54 | |
| | <u> </u> | | | | | | **. | | · | Ļ. | | |
| | *. | 1 | RNATE | | | <u> </u> | | 1. | 1, | | | |
| 1 | Construction Layout | 1 1 | LS | \$ | 1,500.00 | \$ | | \$ | 20,000.00 | | 20,000.00 | |
| 2 | Clearing Site | 1 | LS | \$ | 7,500.00 | - | | \$ | 20,000.00 | _ | 20,000.00 | |
| 3 | Excavation, Unclassified (If & Where Directed) | 30 | CY | \$ | 1.00 | _ | | \$ | 1.00 | | 30.00 | |
| 4 | Excavation, Test Pit (If & Where Directed) | 30 | CY | \$ | 1.00 | \$ | | \$ | 1.00 | | 30.00 | |
| 5 | Hot Mix Asphalt Milling, 3" or More | 1,755 | SY | \$ | 4,25 | \$ | | \$ | 15.00 | | 26,325.00 | |
| 6 | Tack Coat | 160 | GAL | \$ | 1.00 | \$ | | \$ | 0.01 | \$ | 1.60 | |
| 7 | DGA Base Course, 6" Thick (If & Where Directed) | 530 | SY | \$ | 7.50 | \$ | | \$ | 1.00 | \$ | 530.00 | |
| 8 | Hot Mix Asphalt, 12.5M64, Surface Course, 2" Thick | 240 | TON | \$ | 80.00 | \$ | · · · · · · · · · · · · · · · · · · · | \$ | 90.00 | \$ | 21,600.00 | |
| 9 | Hot Mix Asphalt, 19M64, Base Course, 2" Thick | 250 | TON | \$ | 80.00 | \$ | 20,000.00 | \$ | 90.00 | _ | 22,500.00 | |
| 10 | Sawing & Sealing Joints in Hot Mix Asphalt | 70 | LF | \$ | 1.00 | \$ | | \$ | 1.00 | \$ | 70.00 | |
| 11 | Asphalt Price Adjustment | 1 | LS | \$ | 4,570.00 | \$ | 4,570.00 | \$ | 4,570.00 | \$ | 4,570.00 | |

South Broad Street Roadway Improvements Borough of Clayton, Gloucester County, New Jersey

S&A File No. CB-153 October 1, 2020

| | | Ricky Slade Construction, Inc. Bridgeton, New Jersey | | | | | Diamond Construction Brick, New Jersey | | | | | |
|-------------|--|---|---------------|----------|---------------|----|---|----|---------------|----|----------------|--|
| ITEM NO. | DESCRIPTION | QUANTITY | UNIT MEAS. | | UNIT PRICE | | TOTAL PRICE | | UNIT PRICE | 4, | TOTAL PRICE | |
| | | ALTERNAT | E NO. 1 | BID | (Continued) | | | | | | | |
| 12 | Concrete Vertical Curb | 70 | LF | \$ | 35.00 | \$ | 2,450.00 | \$ | 50.00 | \$ | 3,500.00 | |
| 13 | Concrete Sidewalk, 4" Thick | 35 | SY | \$ | 200.00 | \$ | 7,000.00 | \$ | 90.00 | \$ | 3,150.00 | |
| 14 | Detectable Warning Surface (Insert) | 2 | UNIT | \$ | 300.00 | \$ | 600.00 | \$ | 500,00 | \$ | 1,000.00 | |
| 15 | Traffic Stripe, 4" | 770 | LF | \$ | 0.60 | \$ | 462.00 | \$ | 1,25 | \$ | 962.50 | |
| 16 | Traffic Marking | 180 | SF | \$ | 3.00 | \$ | 540.00 | \$ | 8.00 | \$ | 1,440.00 | |
| 17 | Guide Sign, w/ Breakaway Support | 5 | SF | \$ | 45.00 | \$ | 225.00 | \$ | 40.00 | \$ | 200.00 | |
| 18 | Regulatory & Warning Sign, w/ Breakaway Support | 75 | SF | \$ | 45.00 | \$ | 3,375.00 | \$ | 50.00 | \$ | 3,750.00 | |
| 19 | Reset Manhole, Sanitary Sewer, Using New Casting | 1 | UNIT | \$ | 1,850.00 | \$ | 1,850.00 | \$ | 100.00 | \$ | 100.00 | |
| 20 | Curb Piece | 1 | UNIT | \$ | 700.00 | \$ | 700.00 | \$ | 900.00 | \$ | 900.00 | |
| 21 | Bicycle Safe Grate | 2 | UNIT | \$ | 500.00 | \$ | 1,000.00 | \$ | 400.00 | \$ | 800.00 | |
| 22 | RPM, Bi-Directional Lens, Blue | 1 | UNIT | \$ | 250.00 | \$ | 250.00 | \$ | 1,000.00 | \$ | 1,000.00 | |
| 23 | Preparation of Existing Soil | 75 | SY | \$ | 5.00 | \$ | 375.00 | \$ | 0.01 | \$ | 0.75 | |
| 24 | Topsoil, 4" Thick | 75 | SY | \$ | 5.00 | \$ | 375.00 | \$ | 0.01 | \$ | 0.75 | |
| 25 | Hydro-Seeding | 75 | SY | \$ | 2.00 | \$ | 150.00 | \$ | 0.01 | \$ | 0.75 | |
| 26 | Temporary Inlet Protection | 2 | UNIT | \$ | 100.00 | \$ | 200.00 | \$ | 0.01 | \$ | 0.02 | |
| TOTAL | AMOUNT OF ALTERNATE NO. 1 BID | · . | | | | \$ | 84,045.75 | | | \$ | 132,461.37 | |
| | | B | ID SUMN | AAR' | Y | | | Щ | | l | | |
| TOTAL | AMOUNT OF BASE BID | | | <u> </u> | | \$ | 255,411.75 | | | \$ | 354,118.54 | |
| TOTAL | AMOUNT OF ALTERNATE NO. 1 BID | | | | | \$ | 84,045.75 | | | \$ | 132,461.37 | |
| TOTAL | AMOUNT OF BASE &ALTERNATE NO. 1 BID | | | | | \$ | 339,457.50 | | | \$ | 486,579.91 | |
| | | <u> </u> | | | | | | L | | | | |